
Proposed Sign 104" 

41" 

I L I V E M U S I C J O I N li 

25'8" 
.. ~' 

DOD I/ 

JE .. 

Facing North 



e o - +-' (.) Cl) 
C
f) 
Cl) 
Cl) 
o s.... 
o
 e C
) 

·- Cf) 

[] 
[]=o- 

- 

- 

I 

~ 
- 

- 
- 

~ 

~ 
'-- 

- 
- 

I--- 

L
__ 

= 

11 
' 

I 
, 

' 

I 
I 

, 
I 

I 
f 
I 

\ 
-, 

- 

'" 
,,,,'~~\~!~.~:4 

,,' LiS. •• ·, e E N
s·· -, " 

~.~-. " 
~ 

" 
.... 

,- 
• 

1$ 

2 v/ 
N
o. 67382 

* 
= 

..i.. 
: ...,-- : 
; -O\ 

STA
TE O

F 
,:,~o·· /::' 

n9'. 
~ 

~··. 
l.oR

\v 
•• •c 

,, 
(C's ••••••••• 'i::~ 

',,,,, S¡O
N
A
\. ,,,,J, 

,,,,,,,,1111111' 

O
) 

e 
o o NN

 
.. .., 2';;; ::i 
,,..,_ 
~
i
~ 

~ ¿;:::: 
Q
J º"" 
~~co 
"- a: <X) 
Z
 

roo¡:> 
8 ~ ,- 
N
C
O
 

·- 
e 

i 
ö, 
e 
'ö 
"O

 

"' ü eia 'ti 't; 
v, 

CL CL 

~d~ 
C
q-111 

g_ +I +I 
Estvi 
o 

Q
J 

Q
J 

u
 e e: 

=
oo 

~':'':' 
V
, 

x<X> 

"'º 
E 

11 '° 
,i::l.'.lo 
a
vi' 

11 
M
oq~ 

li o 
Q
) 

..... 
li 
o 

.c-oU
 

-i~] 
I
q
o
 

- -' 
e
 Ho

 
~~~ 

~~~ 
g~~ 
..I 

o
!:; 

o
 
Q
.V

l 
Z
~
N
 

::~ ~ 
o a. C

l 
'7 E! 
:;~a 
U
ÍÏ~ 

~~~ 

G
enera! ;t~~

5lfhe1~i~;fc~d,~~~~a~i:.t~~ ~~~~~~~Ier~~~¡ t~:t~'e!~g~~~~hl~~ºn~~~~~i~~~~h~? ~~ht~I1~t~~~~~~ ~1:~~~lJ,~tJ~~~ÄeJ:~ ~~~¡~~~~~ ~?~ëfflt~4~ÁVfl~6d!~ tAöiu1'.\u;,a¿i~~~~~~. ~~ ~hi:irtlbf:.~S·1~~~r:~~~~~'fhºJ1?6~e:o'a~~d~r~~~~~~x6r1~:~~:~fi~t~~~:~a. il~i~,~~~~g~~'~·~e~t~M~ t:f~~tf.~ffil6~ ?;.fi~~~~~~~:: ¡~~i~:~:r~~:~~~î 
, 
N
otes. 

or em
bedded in concrete 

shall be painted 
or protected 

as prescribed 
in ADM

1-15{1a), 
or plastie/neoprene 

spacers 
provided.· 

All exposed 
fasteners 

shall be S.S. or have a crctecnve 
ccannq for corrosion 

protecuoo.. 
All w

eldinq 
shall be per AW

S requirem
ents., 

Steel w
elds: EfoJOC electro~es., 

Alum
inum

 
welds: 4043 filler alloy.· 

Alum
 
extrusions:6063-T6 

or stronqer, U.N.O. 



Tin Roof above awning, Alive music Joint on valance 
Sizing and dimensions 

104" 

..... , . .,_ ........_ _...... .......__ _...... .......___, 

Awning 
Valance 
Face 

Sign Attached to (5) 2" x 2" square tube up right gator shield tubes 
(2"sq x 0.250", 6061-T6) upriqhts, welded to awning f!ame (1/8"x2" fillet welds at 6" OC). 

Uprights need to be properly spaced and proper high from top of awning 
To be provided by awning company. 

Tin Roof letters and cabinet to be fabricated of aluminum .080 backs with .063 returns 

3/8" through bolts with nuts and washers top and bottom on each up right 
(4) for Tin (2) for Girl (4) for Roof A Live Music Joint panel to have one 1/4" thru bolt per column 
thru awning material. Fasten raceway to awning w/ 1/4" bolts in pairs at 60" o.e. max. 
letters attached to raceway with 3/16" pop rivets or machine screws average (4) per letter 
4 individual components: (1) A live Music Joint 8" tall x 118" wide box with letters secured to awning face 

(2) "Tin" channel letters 24" tall by 43" wide (3) Dancing Girl 24" wide by 37" tall (4) Roof channel letters 24" tall by 48" wide 

24" 24" 

48" 

ASCE 7-1 O WIND LOADS: • Sign Height= 30 ft max Wall components & cladding: 
, V=170 mph· Exposure 'C' • Kzt=l .O, Kd=0.85, G=0.85 • Zone 4: ± 40.8 psf 
• Risk Category 2 Structure • ASO Load Coeff = 0.6 • Zone 5: ± 51 .9 psf 

. . . . . . . . .\,1111111,,,,,,, 
,,,, '-'d )(,.. e~',,, ~ ~~ .. , ' .. .. ~ ,, ,' .. "' 

,' L.,,,,;.. • . •. ~I\,,. 
,:, ~ Awning •• "~~ io" :,..:,valance o < .... ·.,,,,..-:. ... . -, ·~- -;z:o Face r,:,.: --·:,:, ~ °' m.Z: 

--· m ',I z· - -;~·-o (.) w c,,:_ç= 
::. ~~·· .... 'T1 00 ,,, :~ :: , •, N • ... 
~ "'·· ··J"'I\ ~ , V/, . ;-~ ' ,.,r ?lt.e:-· • • • • • • f· · ·- 1200 N Federal Hwy, #200 Christian Langley ,.., ., * :;:,,t) 

Boca Raton, FL33432 Florida PE #67382 "~ ~ ~ i~ lii 
1-888-371-3113 CertofAuth#31124 11 1 11111 ¡;;-'< 



Project: Tin Roof 
8 East Atlantic Ave 

. Delray Beach, Fla 118" 

46" 

I 

Letters supported to an of aluminum back panel .080 backs with .063 returns 

Open channel letters w· 
trimmed.with black 

ED LEDS and a Red plexiglass face 

LED LOW VOLTAGE Illumination 

Tin Roof letters to be fabricated of aluminum .080 backs with .063 returns 

1/4' through botts with nuts and washers top and bottom on each up right 
(4) for Tin (2) for Girl (4) for Roof 
~tters attached to raceway wITTI Y16' pop rivets or machine screws average (4) per ~tter 

Awning 

Liquid Tight with connectors 
11rm1T1:1am P.ocffltilflÍTWI 

Panel 
Box 

Bonded 

Disconnect Swttch 
20 amp 

Weather Proof 

PMim~ r1œ11:x:t¡m¡nix11Emrg 
IY/ !li.MP Ciruhill111lffiWre 

Frosted LED bulbs and sockets exterior grade 
Mounted in channel letters. Letters attached to wireway. 
Wireway to match awning color. 
Wireway attached to existing steel supports 
1/4" through bolts with nuts and washer (1) One per support 

Letters Build to UL Standards and Bear UL Labels 

Letters built to klcal bui~ing code requirements & Underwriters Laboralories standards 
All eleclJical wiring and installation shall comply with the provisions 
or the Florida Buik:lìng Code Chapter and any and all articles Of the current National Electric Code 

Primary by others, 112 raceway with #12 wire THHN 
AU breakers and timing devices shall be identified at time of installalion 
All components U/l lisled and shall comply with the current NEC and FBC 
One 20 Amp C1tcuit and ono 20 amp öeconoect Switch@ Ea. Translormer 

Sign to comply with NEC 600. system to be bonded 

ASCE 7-1 O WJND LOADS: • Sign Height= 30 ft max 
• V=170 mph· Exposure 'C' • Kzt=l .O, Kd=0.85, G=0.85 
• Risk Category 2 Structure • ASD Load Coeff = 0.6 

Wall components & cladding: 
• Zone 4: ± 40.8 pst 
• Zone 5: ± 51 .9 psf 

LED Ballast 12/24 Volt 

Bushing 

Trimmed Plexiglas Face 
with full color print 

Channel Letter for dancing --+:-11 
girl 

\ \ ,1111111,,,,,, 
Back P~raê8 (\ i,.. Cl(.'',, 

, \...' • • • • r,A"" ,, ~~ • •• "r; , 

Exi~ti~1pri;ht support, • •. ~ 
""' .;..1 '> Z ,, • ~ .,. 'o .,.... V\ o \,. -- - ... . ~ . ..,_.,:. ;~:~ ~ ~ °' ~:z; 
--· m ..,.. """' .,. - --·- o ,., c..,--- -:, •O - "7•~:: 
~ ~ ... "9.,, ~ ,,, .. ~ i 
-=:- - "'.. • •r,.."'Ç' ~ 
,,y~. .~' , .... 

Christian Langle;r~ ~ ~• * • • :~~t ~----, 
Florida PE #67382 . 'e;;.':' ~ \~~ 

CertofAuth#31124 -· 11111 .;;- 

LED Diodes 

1200 N Federal Hwy, #200 
Boca Raton, FL 33432 

1-888-371-3113 



,,,111111,,,,,,, 
,,,,, 

~N
 L.,q 

,,, . 
. . 

,,, ~~' .. ····· 4-c (p
_çy 

,,,~-;, ... ,·e EN s ;.- •• ,· .. seats 
' 

~-...,. • \, 
<: 

• (\?J~l"t, 
.:-~.· 

\~ 
f v/ 

N
o. 67382 

\ 
_ 

:: 
: 

~·- 
= *: 

* 
: 

: 
}IOY.. 

':-O
•, 

STATE O
F 

.' (Ì,Ì6
'- 

,:, ~ 
', 

~ 
,
'~

'V;.OJS 
-:;_ O.A.·• 

~l. O
R
 \0 

,·,~ 
·,r•' 

", "~·.. 
···~u ~ 

'; "'""'s •e••••• 
e.i 

,, 
>
.N

'q" 
;; .., ' 'ºN

A
\..~ 

,, 
.. 

CON
 

,,,, 
,,,, 

Dl~::: 
,,,, 

•• 111111111 
j ~

~
 

e c.- 
.!!? ~J 
.~ ·go 
a u:~ u 
o º"' 
~M

 .<O
'M

 
?'-M

 
- 

;:!M
­ 

I...Jri;'I 
_
u._ 

~
 è

~ 
Q
) o' 

'O
 - 

co 
Q
) 
"'00 

u. cr:: co 
Z

"'' 
u
-
 

ºº 
o co 
N
 

I- 
I
 

C
f) 
- 

::z: 
-o~ 
Q) u. 
....... 

o 
cu o

 
E
w
 

·er- 
» 

cu C
f) 

cO
 

o o::: 
u 

ZLL 
s.... <( 
2
I
 

en 
/ 

-, 
êu r- 
-- 

::::, 
I 

.. \ 
..e $ 
~C

f) 

:E
 

/( 
~ 

l 
Q) r- 
e I 

CO 
0(9...J 
....... - 

::) 

lii/ 
-. 

/ 
::J 

_J co 
~ºz 

>
I 

~ 
cu w

o 
-_J 
....... 
..e C

) 
·- ...J 
- cu (.) 

e
)/ 

·- a. 
~ 

ö, 
e 
'ö 
'O
 

"' ~
'ti'ti 

~ 
Q
. Q

. 

~d~ 
e <t"' 
8_ +I +I 
E<l'vi 
o 

Q
) 

Q
) 

u e e 
=
oo 

~":'":' 

"' 
X
 00 

Eri>IO 
,t:l!lo 
oL/'\ 11 
M
C
Ç
~ 

li o 
Cl.I 

+-' li o 
s: 'O

 u 
·ß':.::.] 
I

C!o 
_ _, 

e 
li 0 

~~~ 

General ;t~si~~~\~;t;f,º;,d,~nnct~a~~:.t~~ ~~~~~fc~1er~~~~ t~=t~'!~i~~~:!_!1l~~ºnVb~~i.fi~;¡'J~h~? ~~h1i~1~t~~~~~~ ~r:~~~'Jr~ld~f¡t~e~~~ (r~i~l;r,;~;~ ~?tëi3{t~4~rité36d!~ tAö'Mu1:1,uS.ªJ}Nm~~r ~~ ~hi:r;,slbf:.~S·1~~11i'6°:;~~~~<!'h0:1r~~e¿o~~~~~r~~~~~r·t~
m
~
~
~
fi~

t~
~
~
a
. 

il~r~~~~6~~e~,:e~t~~~ t:f~~i.~ffìl~~ ?Aîi~~~~~~~r: l~~~~::~f~?~~~~~i 
N
otes: 

o~ em
bedded in concrete shall be painted or protected as prescribed 

in ADM
l·lS{la), 

or plastic/neoprene 
spacers provided.• 

All exposed f~eners shall be S.S. or have a protective coatinq íor corrosion protection., All w
eldinq 

shall be per AW
S reqonem

ents.. 
Steel w

elds: Efox,c electr~es., Alum
inum

 
w
elds: 4043 ñller encv. Alum

 extrusions: 6063-T6 or stronqer, U.N.O. 



Up Right column spacing 
Frame steps back 6" 

36" 
6" 

- Welded to frame. 

15.5" 22.5" 33" 

MID POINT Cross section 
of supports 

r- J '-0" Truss 

2" x 2""' sq. Gatorshield 
welded to 

3" x l '-0" x 1/4" steel 
plate welded to existing 
froot bar trues 

GENERAL NOTES: 

' r,) 

~ 
l 
¡.: 

< 
IJJ 

I 
---"l'-1c," 

Side View 

ASCE 7-lOWIND LOADS: · Sign Height= 30 ft max 
• V=l 70 mph· Exposure 'C' • Kzt=l.0, Kd=0.85, G=0.85 
• Risk Category 2 Structure • ASO Load Coeff = 0.6 

Wall components & cladding: 
• Zone 4: ± 40.8 psf 
• Zone 5: ± 51.9 psf 

1200 N Federal Hwy, #200 
Boca Raton, FL 33432 

1-888-371-3113 

.. . 
-:; "·· ,, "'/._"A~ 'r ~vi:'. •• Christian Langley ,; ""' • . o 

Ce~º~fd..{'u~~ mm - "' ff, 




